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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

December, 2013 	01695 

ELECTIVE COURSE : ECONOMICS 
EEC-05 : ELEMENTARY MATHEMATICAL 

METHODS IN ECONOMICS 

Time : 2 hours 	 Maximum Marks : 50 
(Weightage : 70%) 

Note : Attempt questions from each section as per instructions 

given under each section. 

SECTION - A 

Answer any two questions from this section. 
2x10=20 

	

1. 	Suppose the Demand and supply functions of a 
commodity are given by ID, = a + bP, ; a, b >0 
St  = c + dPt _ l  ; c, d >0 ; a>c 
Dt =St  
(a) Obtain the time path of price 
(b) Under what conditions will the market be 

dynamically stable ? 

	

2. 	Revenue and cost functions of a firm are given as 
R = 1200x — 2x2  and C = x' — 61.25x + 1528.5x + 
2000. Find profit maximising output and profit. 

	

3. 	(a) Show f(x)=1x1 is continuous but not 
differentiable at x= 0. 
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d2  f  
(b) If f (x,y),--x2  +2xy+y2  obtain dxdy  • 

4. Let the input coefficient matrix be 

0.2 
0.4 
0.1 

0.3 
0.1 
0.3 

0.2'-  
0.2 
0.2-  

If the final demands are d1 = 30, d2  = 15 and 
d3 =10. Find the gross output levels for the three 
industries. 

SECTION - B 
Answer any three question from this section : 3x8=24 

_
4 –2 1

_ 

5. Find the inverse of A where A= 7 3 0  
2 0 1 

6. Solve the difference equation xt.+4  – 5xt  =1 It is 

7 
given that xo= 4 

 

7. Solve x—
dy 

= x–y 
dx 

8. 	If the consumption function is C = 50 + 2 

calculate the marginal propensity to consume and 
marginal propensity to save. 

9. Find the consumer surplus at Q= 6 for the 
demand function P =35 – 4Q 
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SECTION - C 
Answer any two questions from this section : 2x3=6 

10. If f (y)=y2-3y+1. Find its stationary points. 

11.  
If = [1 —2] 	[ 1 31 

and Y 3 4 	= L-4 oi • 

Find 2x+y and x'y 

dy 	v  _ 	1 
12. Find —

dx 
if

x2 +x+1 at x = 0.  
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3Tig1TT 3T.W : 50 
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: 	9iPT 	efqTq//V/H YT9.  c) 

WITT- 

wrrr 	 -5rxa 	dT-R 	: 	2x10=20 

	

1. 	-4R-F (41F,R Fa, f 	-qTq 	 31-14 	: 
Dt = a +b13,; a, b > 0 
St = c+ d13,_1; c, d > 0; a> c 
Dt =St  

(a) .41:1-ff 	tr2T 	-51-rf7r 	I 

(b) fah-I #21fat 	3-td-T17, qkriR (-tRa -Holer) 

4 -FT-P-r-t 61th? 

	

2. 	fTT11- 	 cylci 4101 	 : 

R =1200x - 2x2  

C = x3  - 61.25x + 1528.5x + 2000 

	 31k T-rchl 	7114 

7 I  
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3. (a) f---a77 14, f (x)=1x1 	t c 	x=0 trT 

31-q-*--- 9-m 	 t 

(b) 	f (x ,y)=x2  +2xy+y2  t, 	pia 

d 2  f 

dxdy .  

4.  

0.2 
0.4 

0.1 

0.3 

0.1 

0.3 

0.2 
0.2 

0.2 
01FA 	rcb  3/.1,7* 

qFq 3-fraT-1 1=1ft : = 30, d2  =15 31'1 d3  = 10 t 

(44TTT - /31 

-2 1 

3x8=24 1-117f•Wt 'a-1-9' -979f 	\31 

4 
5.  A 	c 	.41) 71 id ' -tr-q-q, •71i 	A= 7 3 0 

2 0 1 

6.  3 	 77 xt.+.1  - 5xt  = 1 

7 
fq-zu,NItfT 	x0=-4 

7.  .w1.177 : x—dY  = x-y 
dx 

8.  qrq -7N-17 th7-9.  t: C=50+2,/ 

*Rtff -Ectwit 3E* 33'Y Tftrit 	 31-qt k-irobrod 

•WTF-7 I 
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9.  

10.  

11.  

12.  

-4Q t.  

1.MT-TF 

2x3=6 

441 	-1 P =35 Fri 	31:11-1)-01 3lft71131, Q=6 
-97 711c-f 

iTITT A f-*--tt 

1 	-2 
3 	4 

ifs f (y)=y2- 3y+ 1 t 

drit q'lr•TR I 

7-(Rt TffaT f--4-saff 4,1 

1 	31 -4 	0 

I 

--trr-A7 I 

-11(-f 

x= 

2x+y 41-{ 	7111 -4-F-47 

dy 

dx 
7lict W1f77 

1  

Vx2 +x+ 1 

'-11 1 x=0. 
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